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EES523
Symmetrical Components

Session 22; 1/4
Fall 2023

LTS \2/1(

Conductor Sag

s Htower = 771t

\T
s Mid =33~ g
sag := Htower — Mid

2
== Hayvei i= Ht.ower - g-sa‘g

1
H,vez = Mid + E-sag

Representation of Conductor Sag,

Rotating and Twisting for Transposition

ok “}'gn(\
sag = 44.ft
Havel = 47.66667-ft

Hayez = 47.66667-ft

H 2
i By t°3wel < Mid H,ye3 = 47.66667-ft
Rotation
100 12 13 1
2123 = 21 200 23 V123 =l
31 32 300 3
0 01
Ry:=|100
0120
(3
V312 =Ry Vo3 Viz =11
2
2
=1
V31 =Ry Vi3 Va3 =3
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